EXHERCISE 9 — Test Your Algebra Skills

SIMPLIFY

16) 2x(x—8);~5(4;3x) =

17) '(3x—5‘)(\x;4)' =

H

16. 2x"-x-20

) -prp = 18 (5x-3) (5x+3) = |
3) 0 2x-S5y-8c+y = FACTORiSE ) |
4 6x+jx2 +.2x%3x2 = ]Q) 5‘fo3 =
) ..@'c—zz . 20) P ex =
'75{) ZP %'74 = | _'2]) 2xa+2xb =
7) 3_a><Z§>'<<?c»= 22) 2a*b-é6ab =
8 Sm xGpxd = 23) a+6) +hEtE) =
9 Ixedx = .24) x4+ 8+ 12 = |
10)  8xy -3-6y = SUBSTITUTE- a='4, b=-3 c=10into.. :
4;7]). 2a*b +6Zzb e 125 b+c-8 = |
I PAD 26 2a+h =
12) x@x+3) = 27) a=3bxc =
13) -Ja(b-2a) = 23) cr_5p =
|19 %(6a+8b) = 29) b-2a* =
19 SErP-45-g = 50) - abo- (atbtc) =
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L8 2 sGedy 4edesr | |19.603)  20.0xxH) 21 2(e)
| 5. 6x-12 §,12pq 7. Izabc 8. —%2Qmp | ;’i E?b(a%) g,g §a+b)(xf6) ?] g‘fz)(x%)
i;—iabﬂi.a; 0;1:2;41‘114 B 15.>1ci§)1€2+3x 28.115 29. 735 30.-131
17. 3% 17420 18.256°-9




EXERCISE § — Simplify & Substitution into Formula

1. Simplify the following expressions:

- (6_1)'8]3—3;9 +2p =

() 8x—5x-2x =

(© 5a+‘3b+5g_/b -

@ 2y-5y+8y~y =

() 4a+3b =

0 '-.7p+2p_ =

(g —6d-d = |
. *). S5k + 3n—7k_7n ~

() 3g=8h-=7h+2 =

) 5x“‘5x‘4—2x_1-3x2 —

0, ab - 552-}-[9/74-352 —

() 6x—5x" —2x- 3% =

(m) 2ab—ab2_ba L=

(n) 229 x7q =

(o) 3axbxéc =

() -8x2p =

(@) -2 x-6b =

(r) ,.5m'x-6p x4 =

(s) 5x x-6x x4 = -

() Sy x-6yx-y =

(w) 8a-+4=

() 8a~+2a=

(W)
@ 3x+_5"=~

() Sabe+12b=

Xy =x=

]fa—-4, b=3& h=6

(@) A=bxh

=( %)

@ A=1bh

=% x()x( )

(c) V-=h_+ JOb_
=()#10%( )

(d) bzx/@ '.
=( ¥x()
(o) A= %[a B % h

'”I/2><[( )+ (I ( )

(p F=35a+3b-4h

)
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QL |@7 . - bx ¢) 11a-b
-] e) 4a+3b i)-gp - g-T7d
1)3g-15042 ) 8x°+8x k) 2ab-2b
m) ab n) 14pg o) 18abc
q) 12b r) ~120mp ) 120 X~

=5x( )+3x( )—4x
@ P=ab
=X )
()
h}JK—-’l ";38’) ac )
Ig Aﬁzx a)alg b)9. 9 36 d) 54
g3 1972 0 g2




